(4) 94109

\9. .. Discuss various applications of recombinant DNA

technology. 8
y  TEE-ET et @ R e @ Rden
B |
94109, - :

94109
B.Sc. 6th Semester (Pass Course) Examination,
July-2022
BOTANY

Paper-P-1-6.1
Bio-chemistry and Plant Bio-technology

Time allowed : 3 hours] [Maximum marks : 40

Note : Five questions to be attempted in all, selecting two

questions from each unit. Question No. 1 is
compulsory (Short Answer Type)

e ;. % S @ @ 9 @ 977 w0 gu, o a7 g
&1 497 §. 1 g & (g sw)

1.  (a) Define Gene hbrary. 8x]1=8

| S @S # g @

_ (b) What is apoenzyme ?

| QTSR T ? 7

(¢) Define Respiratory Quotient ?
ET ol B IR e |

(d) What do you mean by saturated fatty acids ?
HI TE A A M 4 A & ?

(e) Which form of nitrogen is readily available to
plants ?
TELST H B8 &Y URH P gid g @
| S 8 ?
(f) What are Phasemid Vector ?
Peife ares @ § ?

‘94 199-P-4.Q-9(22) " RRG



(2) 94109

(g) Define shuttle vectors ?
e el B g ST |
(h) What are somatic hybrids ?
few H@H H 8 7
Unit-I
TE-1
2.  Write short notes on : 2x4=%
(i) Nomenclature of enzyme
(ii) Lock and key hypothesis for enzyme action
=1 oX it fewPr fafeg
() OoTEAT @ A
(i) UTEH BR ¥ AW @ A R
3.  Discuss the regulation of enzyme activity in deta;l. 8
doen R & R @ R R R

4. What is respiratory quotient ? How does its value varies
with the nature of respiratory substrates ? Give examples.
| 8

qE OF 1 8 ? GE Hegel i W B WY THH
9 59 YR 8 SEaar & ¢ 3% i

94109

(3) 94109
Describe Chemi-Osmotic theory of Oxidative
phosphorylation. 8

Sfrfiefea BreRieietr 3 W-gwERel R & qoiF
Fifera |

Unit-11

11
Write notes on : 5o
(i) Unsaturated fatty ﬁcids 3
(ii) Biosynthesis of fatty acids 5

e W fewfrr fofag -
(i) oTEgQ a1
(il) TE1 Tl & oig-Heager

Describe nitrogen fixation and biochemistry of nitrogen
fixation in leguminous plants 8

AZgIo REETT T1 Beflar q&dl 3 qrs;ﬁm RerdiaToT
& J9-TEEE H aU BT |

What is gene cloning ? Give a brief account of gene
transfer techniques. 8

Gﬂﬂﬁ\mm%?ﬁﬂﬁwmﬁfﬁr@mﬁ
fqgor difvma)

94109 AN
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9.  Give botanical name, family, characteristics and uses of

Shisham and Teak. 8

HfierT IR A F1 FefeTE AW, W, R qe
IYGIT ST |

94110

94110

B.Sc. 6th Semester (Pass Course) Examination,

July-2022
BOTANY
Paper-P-11-6.2
Economic Botany
Time allowed : 3 hours] [Maximum marks : 40

Note : Attempt five questions in all. Question No. 1 is
compulsory. Attempt two questions from each unit.
All questions carry equal marks.

e ;T T 997 B | T . 1 A 1 98w s

@ @ 597 Ffrg ) a+ft get B oiF FuT &
1. (i) Whatis mercerized cotton ? 1

qe i Hu T ® 7

(ii) Whatis vulcanization ? 1
qEHIHOT T & ?

(iii) Name the centre of origin of potato ? 1
A & I B B B A9 TG |

(iv) Whatare beverages ? 1

L W e Fn g ?

(v) Define seasoning of wood ? 1
TS & HMOT B oRAE #feng |

(vi) What are biofuels ? 1
Aq-gu H/a ¥ ?

(vii) Name the plant part used in turmeric ? 1

Bl § WY URY AN H AW i
94110-P-4-Q-9(22) [P.T.O.



(2) 94110

(viii) Write botanical name of opium ? 1
|8 M F TR T e
Unit-I
-1
‘ 2.  Give a brief account of origin, botanical description,
cultivation and uses of Rice. 8
W%W,mﬁmmﬁﬁwmﬁjﬁm
witra faaor difere |

3.  Give a concise account of morphology and uses of the
following : 2x4=8
(i) Arhar
(ii) Potato
Frfafae @1 oTeRfal qar IUEr & U G e
gt -

(i) 9T
(i1) &Y )

4. What are fibres ? Give botanical description,
distribution, cultivation and uses of cotton. 8
dg F 2 ? FUE F Ay fawor, oo, ad
T IUERT FarEd |

94110

(3) 94110
Deseribe origin, distribution, botanical description and
uses of Mustard. 8

6l & TgwE, e, avefhmrea fawer qur awe
F I HIAC

Unit-11

-1
Write a note on botanical description and uses of cloves
and turmeric. 8

AT T B B gIEIfINTEg faEaRer qur S )W o
feoqoft forfe |

Give morphology of plant part used and uses of :
2x4=8

(i) Rauwolfia
(ii) Cinchona
=1 & 99 =W AT H SHRH T ST -
(i) e

(ii) B
Explain botanical description, cultivation, uses
and processing of tea. 8

99 $ aAefaerEy Faeer, @dt, I qun qEEs
& AT T |

94110 [P.T.O.




)

94101
B. Sc. 6th Semester (Pass Course)
Examination, July—2022
CHEMISTRY
Paper-P-XVIII
Inorganic Chemistry

Time allowed : 3 hours] [Maximum marks : 29

Note : Aitempt five questions in all, selecting one question
Jfrom each section. Question No. 1 is compulsory.

e : 9 G & U G5 H 99T G g% F U
797 FQ | g7 T 1 ofvard &1

I. (a) Whatisisland x-bond?

TS 7 -3E4 F B?
(b) Define Bohr effect.

a7 oW F R #im |
*(c) Whatis Conjugate base of [A/(CH,0) J** ion?
[A(CH,0),]* 3T &1 §gwt omuT #47 &7

(d) What is Wilkinson Calalyst?

fafera I8 w27
() Define Lewis bases.
39 & B oty Fiftm 5x1=5
94101-P-7-Q-9 (22) [P.T.0.



(b)

3.1 (@

(b)

94101

(2) 94101

Section-A
qUes-H

Name the different categories of organometallic
compounds. Discuss each one with one example. 3

HEq-aicas ANE @ @A et & 9w
TORY | UF IS0 afed T @ e S |

What is Zeise's salt? Draw its structure and describe

its salient features. A i
ofre w7 87 T e b i @
o Ty@ fasanet # o Him |

Discuss the structure and uses of organolithium
]
compounds. 3

Pla-AeH AH G T I
fqa=mT Fifor |

Write [IUPAC names of the following : 3

(i) Fe(CO),
(i) Ni(n—CH,),

(iii) [Mn(CO),C,H,J"

(b)

94101

(3) 94101
Frefaflad @ IUPAC M fWfET :
(i) Fe (CO),
(ii) Ni(n-CH,),
(iii) [Mn(CO).CH,J*
Section-B
qUe-9

What leads to hard-hard and sofi-soft interactions?

Give evidence in support. 3
FE-FAT a1 9595 Si-Prme® i % 7
S 27 T § ang AT

Explain : 3

(i)  Trimelhylamine is more basic than NH..
(i) HCIO, is stronger acid than HCIO.
SEEIECHE

() CRMEEAsTEE NH, $i e Tt &
l

(i) HCIO,, HCIO % 798 Je o7 gl

[P.TO.
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(b)

(c)

94101

(4) 94101

What are characteristics of hard and soft acid and

bases? What are limitations of HSAB principle? 3

FOR T G5 o7 7 &I F Fafwan #@ &7
HSAB fo = &1 dm &1 87

How is electronegativity related to hardness and

softness of Acid. 4

R FoTomRal R TR @ ST @ FEIT),

AR JgA | wEiG e
Explain Symbiosis. 1
qehfaT & aren @R
Section-C
gUs-q

What are metalloporphyrins? Explain the structure

and function of Myoglobin. 3

oIg-TPR-T M &7 AFFCiS B G el
P AT F |

(b)

(a)

3y

(b)

(a)

94101

(5) 94101

What is meant by Nitrogen fixation? What are
fundamental requirements of biological Nitrogen

fixation? 3

TEE RIAHTOT § F1 Axdd 87 Afdh AZSIeTT
Rerfierror 9 Ao aaeaad 7 &7

What are essential elements? Give the biological

roles of Zn, Cu and Mn. 3
GG T FT &7 Zn, CudMn & Siash G
qarEy |

What is Na" — K* pump? Explain its working. 3
Na*— K* T 1 &7 309! HAvsia qoemd |
Section-D
que-¢

What are polyphosphazenes? Discuss the nature of

bonding in cyclic tri-phosphazene. 3

Um0 87 Tha-gRmessT o
ST & UGG @ e I |

[P.T.O.



(6) 94101 (7) 94101
) (b) How are silicons prepared? Discuss their H¥feranatt H g HT -

applications. 3

fafeta @ e e 9e) @ 3 o ®7
9% IFVERT @ fadEEr i |

(i) SiHCI +CH, -

(i) PCL+NH/CI —

9. (a) What are silicone rubbers? How are they

vulcanized? 2

faferat a7 87 S aebHieTl B (Tl

S 87 ) J
(b) Give I[UPAC names of : 2"

(i) [Si(CH)CH.O]
(i) (CH,),Si-O-Si(CH,),
T &1 [UPAC T =4
(i) [SI(CH,)CH.0]
(ii) (CH,),Si-O-Si(CH,),
(¢) Complete the reactions :
(s sinel, +CH, —

(ii) PCL+NH,CI —

94101 94101
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94107

(8) 94107

Define orthogonal complement of a orthogonal
complement of a vector space. [2 each]
R P o1 g @ 8T T a1 B
R*% UF IY HHE B

ey % Tge= S = (1,1} S ardas qest
% 8 & HU ey ge C B TH ITTIRE ¢,
R% HW CH AT FH 21 )

freEd % W = T:R2 > REST
T(X.y)=(x+y, x~y,y) &R GRAMT @& |
T W B |

MR (1, 1,2), (2,2, 1),(1,2,2) F Tmer qiey
(1.1, )& FEeis sE $ifmu |

MW%WW%WW.

T 8 8

QEEHI%&TW%W@WE%WW
QW B IR ST |

94107
B.Sc. 6th Semester (Pass Course) Examinaﬁon.{
July-2022
MATHEMATICS
Paper—12 BSM-362
Linear Algebra

Time allowed : 3 hours ] [ Maximum marks : 40

]
Note : Attempt five questions in all, selecting one question
from each section. Question No. 9 of Section—V is
_ compulsory.

e : gOF GUF 7 U F7 F THT F §Y 7 U
g9 FIoTT | GUE-V FT JIT Fo 9 Sifard &1

Section—I
gue—1
1.}

(a) Prove that the union of two subspaces is
a subspace if and only if one is contained in the
other. 4

(b) Extend the set of vectors (1, 2, 3), (2, 1, 0) to
form a basis of R, 3

(®) fom i @ & 37 guftedt &1 §9 v SygHfte
2 aft qur Paq AR o, g § FfEw 2

94107-P-8-Q-9 (22) [P.TO.
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(2) - 94107

(@) R°3 TF FHER & fawan g kel (1,2, 3),
2,1,0)% T=d & @R HiT | :

2. (a) IfW,W,aretwo sub-spaces of a finite dimension
vector space V (F), then '

dim (W, + W,) =dim W, + dim W, — dim (W, "' W),

prove it. - 4

()
(b) If W is a subspace of V =V, (R) generated by
(1,2), find V/ W and its basis. 3

(F) a’ W, W,TH uRia am ake q6Re v (F)
& 37 gkl &, a9

dim (W, + W,) =dim W, + dim W, —dim (W, \ W),

= s Fivm |

(@) 3R W,(1,2) 3 SR V=V, R)H T SR
T @ V/ WA SEH SR FIG B |

Section-I1

gus—I1

3.  (a) Lety =(l,L-1), u_2=(4, Lo (1 52)
be a basis of R?. Let T : R* = R? be the

94107

(b)

()

(®)

4.7 (a)

(b)

94107

(3) 94107
linear transformation such that T (u,) = (1, 0),
T(u)=(0, 1), T(u))=(1, 1). Find T. 4

IfT:U(F)— V (F)is a linear transfonnatfon,
then prove that :-

Rank (T) + Nullity (T) = dim U. g
WA u=(1,1,-1), wu=(411),

u,=(1,-1,2) F T& R®MER & 99 o
T:R® - R2 W& &I & 36 96K @
T@)=(1,0),T@w)=(0,1,TM@)=(1,1);
TG Hifon |

IR T: UF) - V (F) TF % & 8, a9
s #ifore 7%

Rank (T) + Nullity (T) = dim U
Prove that the dual space V* of a n-dimensional
vector space V (F) is also n-dimensional. -
Find the dual basis of the basis

B={(1,-2.3),(1,-1, 1)@, —4, D} of V,(R).
3

[PTO.
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5. (a)

(b)

(%)

94107

5 R 94107
e #ifm B n-smarh @Rk ke v (F) A
2 e v+ A n-omandt 21
V,(R)% 38R
R=1 2% {L-1.1),2-4T

F 20 TER S B |

Section—III )

G-Il

Let T : R* - R? be a linear operator defined by

T(X,y,2)=(2X,4x -y, 2x + 3y —z). Show that T
is invertible and find T-". 4

Let A be n ¥ n matrix over a field F. Then pi-ove

that A € F is eigen value of Aiff (A—Al)1s sillguf'}r.
: 3

99 & T (x,y, 2) = (2, 4x -y, 2x + 3y — z) &N

e oo e TR T: R - R | Rasd

f T ool B U1 T '3 i |

O & ATH 89 F& SU n x n HAGE 8| a9

s FRT 5 A e FUF 3ESH 99 & A, IR
a7 Bad I (A — Al THA & |

6. (a)

(b)

(%)

94107

(5) 94107

Find the matrix representing the transformation

T:R?— R*defined by T(x,y) =(x+y, 2x-Y, 7y)
relative to standard ordered basis of R? and R°.

4

Let T:R*(R) = R* (R) be a linear transformation

defined by T (x, y,' z)=(2x-y,x+y+z, 2z).Find

the characteristic and minimal polynomial for T.
3

R2TN R* 3 U9 HHT SMER & €0
T(x,y)=(x+¥,2x—y, Ty) &I YR ST
T:R > R P Eld &E am g
I |

a9 & T:R*(R) > R} (R) T Wad Tl &
T (x,y, 2)=(2x—y, X +y + 2, 22) BT TRATN
I TR fu P qur Feeae 9gee o
FIfoTT |

Section-1V
gues—-1V

Prove that every finite dimensional vector space
is an inner product space. -
[PTO.
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(6) 94107

(b) Using Gram-Schmidt process, find an
orthonormal basis of the subspace W of V' (©)

3
spanned by u = (1, 0, i),u2=(2, 1 +3). 3

@) m:ﬁqznﬁ?mwwmgq, u, =(1,0, i),
=@ L1+ 30 R W v, o %
W T WA w5 qwm i s .
Ay AR STy

8. (a IfTandSare normal operators on an inner product
space V (F), show that TS and T + S are normal
operators if either of the Operators commute with
the adjoint of other, 4

(b) LetTbealinear Operator on an inner product space
VE).IfT? u)=0and T is self-adjoint or skéw
Symmetric, then show that T (u)=0 3

(%) !If‘a"ramswaﬁaﬁzsmam&vmw
Wmmﬁ,mﬁ@@%mans
Wm%qﬁﬁmﬁﬁﬁs‘ﬂﬂm
.%wﬁﬁ%mﬁﬁmm%l

94107

9

(1) 94107

@ 9 F T SffE S FHe v (F) T

o YeF wHE A1 AR T (=0 T
w-mrdadt are o & €, a9 Remd

T(u)=0
Section—-V
gus—Vv

)

(a) Show that any plane passing through the origin is
a subspace of R’

(b) Show that the set S= {1, i} which is a subset of
vector space C over the field of real numbers
generate C over R. '

(¢) Show that the linear transformation T : R? » R?
defined by T(x, y) =(x+y, Xx-Y, y) is a

J non-singular transformation.

(d) Find the co-ordinates of vector (1, 1, 1) relative
to the basis (1, 1, 2), (2, 2, 1), (1, 2, 2).
(¢) Prove that similar matrices have same
characteristic polynomial.
94107 [PTO.




94108-A |
B.Sc. 6th Semester (Pass Course) Examination,
July-2022
MATHEMATICS

Paper-12 BSM-363
Numercial Analysis-Math-111

(w.e.f. 2014-15 to 2017-18 in place of Dynamic for
Re-appear students)

tvme allowed : 3 hours | [ Maximum marks : 30

Note : Attempt five questions in all, selecting one question
Jrom each s2ction. Question No. 9 is compulsory.

e : g G & @ G99 999 I g, G U
| 5T 1 97 o 9 AT &1

Section—I
Hus—1

:r (@) Locate the error in the following table. Find its
correct value :

x | o II2I3‘|4|5|6|?’8
i 3|13|3?|sof151_|253]393‘57?

94108-A-P-11-Q-9 (22) [PTO.



b il 4 - W W .

(b) Obtain the Newton-Gregory formula for forward (®) log,, 31, log,, 32, log,, 33, log,, 34 % 99 5

interpolation. Fifoe e -
@)wmmﬂx:ﬁiﬁrwmlm »  [LBaET a8 [V I st | D%
logio x | 1.4771 | 1.5441 | 1.6021 | 1.6532 | 1.6690
x | o /RIS | & | s destl 7 | 8 | |
y [ 1[3[13]37]80] 151 | 253 | 393 | 577 @) x% 9E B RT B £(x) D 99 39 5HR Ry
’ » T ¥ £(1)=4, £(2)=5, £(7) =5, f(8)=4; (o)
(@) ST SEEEE @ R e T T x B W AF A HiT Fes [T f(x)
B | e SR A R
2. (a) Find the values of log, 31, log, 32, log, 33, - | / Section—II
log,, 34 if : qUE—II
X | 30 | 35 | 40 | 45 | 50 3. (a) DeriveBessel’s formula for central interpolation.

logiox | 1.4771 | 1.5441 | 1.6021 | 1.6532 | 1.6690
(b) Use Sterling’s formula to find the value of /22 2

) A given that
(b) The values of the function f (x) for values of x are
givenas f (1) =4, £(2) =5, £(7) =5, £(8) = 4. 20 =4.472, 21 =4.583, V22 =4.690

Find the value of f (o) and also the value of x for

23 =4.796, /24 = 4.899
which f (x) is maximum or minimum.

94108-A 94108-A [P.TO.
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4. (a)

(b)

(%)

(4) 94108-A
FA AATE & U S8 S G H AN
il |

J222 AN T B & o0 'R B g w6
SqERT #ifw, far ® R

J20 =4.472, 21 =4.583, V22 =4.690
V23 =4.796, 24 =4.899 - )

An unbiased coin is tossed 10 times. Find by using
binomial distribution, the probability of getting
(i) exactly 6 heads (ii) at most 6 heads.

The mean yield of a crop for on-acre plot is

662 kg with a standard deviation 32 kg. Assuming

normal distribution, how many one acre plotsina
batch of 1000 plots, would you expect to have yield

(i) over 700 kg (ii) below 650 kg.
>

wmﬁﬁﬁlommw%i
(i) Femea: 6 R (i) o | o1l 6 fBre o

B R R ReRer @ SR #Rd g

94108-A

ST ifoTg |

@)

S a)

x|

(5) 94108-A

Th UHE A B R B BEG @ W S0
35 kg ® U9 fa=e Afed 662 kg €1 1000 Tt
3 0% A9 H b 0 THe S Qal 7 AN

(i) 700 kg ¥ FUT (ii) 650 kg § = I %

M HEA ?

Section—I11

gus—III

Given the values of an empirial function f (x) for

certain values of x, find ' (93)

60 | 75 | 90 | 105 | 120

f(x) |

(b)

()

94108-A

282 | 382 | 432 | 409 | 377

Using divided difference, find the value of
£’ (8), given that f (6) = 1.556, f (7) = 1.690,
£(9)=1.908, f(12) =2.158.

x® FB Al & 0w gAN R o () @
g B3 7, £ (93) §d HT :

‘-“44&._‘_;




(6) 94108-A

« | 60 | 75 | %0 | 105 | 120
fx) | 282 | 382 | 432 | 409 k317

@) R ST & ST W §Y, £ (8) F A
s i, R & @

£ (6) = 1.556, £ (7) = 1.690, f (9) = 1.908,
£(12) = 2.158. )

6. (a) Usingpowermethod, find the largest eigen value

and the corresponding eigen vector of the matrix

1. -3 2
A=|4 4 k.
6 3 5

(b) Transform the matrix

2 Y.
A= 1 ihad /
B

to tri-diagonal form by Householder’s method.

94108-A

| (7) 94108-A
@) o Ry F ST A gL, e

E =3 2
A=|4 4 . =l
6 3 5

%Wﬂmﬁamﬁwwmﬁ?aﬁw
A o |

| (@) eRuest [ & JAEE

Section-1V

qus-1v

7. (a) Derive Trapezoidal rule formula.

94108-A [PTO.



t (10) 94108-A (11) 94108-A

(c) By means of Lagrange’s formula, prove that () AR XA 4 a9 B 23 6 @ Rudy

| U =u-03(u-u )+02(@m,-u,) et T ORI TR, AP (X -4|<2) T
' FHifora |

(d) IfX follows a binomial distribution with mean 4
and variance 2, find P (| X -4 | <2). ' " d
¢ ) @) SR 8 oI A I AR g L
d %qu%r HifoTa |
(e) Derive formula for Exz using Sterling central e & H

difference formulz | v " @ agn B 3 o @ s

(f) Point out the advantages of multistep methods.

(F) = Fifm f#F

Alog (Cx+d)=log (1+ ch J
Cx+d

(@) ® £(x)=x*-2x% T 2,4,9, 10 GRd giw

frefSr o s #ifom | " X
(M IS & G 3 949 Q, s Afm /B
u, =u,=0.3 (u,— u,)+02 (u_3 -u_)
94108-A 94108-A




(c)

(@

(e)

()

()

(=)

o

94108-A

(10) 94108-A (11) 94108-A

By means of Lagrange’s formula, prove that @) IR XA 4 HEIT =R 2% 9 @ vl

U =u,—-03@u-u)+02 (@, —u) ferertor 1 Qe HIT R, P (| X-4|<2)FE
HITT |

If X follows a binomial distribution with mean 4

d variance 2, find P (| X —4 | <2). .
SR RSUIINE (o -5152) @) Eﬁw%ﬁuwwmwmg%%

d P it ey |
Derive formula for d—i* using Sterling central Rie w
) )

difference formula. s - (@) T RRE & At @ e Fifv

Point out the advantages of multistep methods.

s #ifvmg =%

Ch
Alog (Cx+d)=log |1+
g ( ) g[ CHdJ

Hd f(x)=x'-2x% TH 2,4, 9, 10 Ged T
frafmr ofax s i | i )

T & g P Ao 9, R i/

U =u,-03(-u,)+02@ ,~u)

94108-A




(8) 94106
' ) WW%%{Q‘WMW@I

@) s 29 3 e oo f(2) @ e @i ok
qaEd |

(%) TITUE qE AEFE WG F IR
T |

() e G TH FE Bl GRS i |

94106 [Encl. Graph paper

94106

|Graph Paper
B.Sc. 6th Semester (Pass) Examination,
July-2022
MATHS

Paper-12BSM-361
Real and Complex Analysis

Time allowed : 3 hours ] [ Maximum marks : 40

Note : Attempt five questions _'in all by selecting at least
one question from each section. Question No. 9 is
compulsory.

A : g% @8 @ F7 § F T §97 F 747 B GG,
%ol G 797 g | FE7 Fo 9 S &1

Secfion-I
qus—|

1. (@ Ifu=xyzv=xy+tyz+zX, wW=x+y+z
J
verify that

QW) e G
a(x’y'z)—(x y)(y-2)(z—%) 3.5

| (b) Derive Beta and Gamma function relation

[mn
B (m,n)= mehere mn>0. 3.5

94106-P-8-Q-9 (22) [PT.O.




(2) - 94106

@) W U=Xyz VXY HyzE I WXty +z,
& weha #fw f

O, %) .
9(x,y,2)

(@) St qYr T A S B AR B

-V y-2)(z-%)

[mln .

B (m, l'l)-*l—(-———a's'fmn>0 )

2. (a) Change the order of integration

a \152")’2 :
[ [feoydxdy. 3.5

-& 0

(b) Prove that volume of the ellipsoid
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Section—I1

gus—-II

a X :
3. (a) If the series ?O"' Z (a, cos nx +b, sin nx)
n=l
converges uniformly to a function f on [- 7, ]
then it is the Fourier series of f on [~ &, n].
3.5
(b) Expand f(x)=|x|as Fourier series in [~ m, ].
3.5

&) 3afe ] EIaT %0— + Z (a, cosnx + b, sin nx) .
n=1

[~ ) T Foe fH uhegs w9 & srfaRa
Bl & 9 T8 [ 7, 1] T £ BIET @ 2 |

@) [ x) q BRE @ 3 &9 F f(x)—|x|ﬁ.
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